
Mat = 88 0, -Cos@k xD, pm Sin@k xD<,
8k, 0, 0<,
80, pm Sin@k xD, Cos@k xD<

<;
Mat êê MatrixForm

0 -Cos@k xD pm Sin@k xD
k 0 0
0 pm Sin@k xD Cos@k xD

Img = Mat.8x, y, z<;
Img êê MatrixForm

-y Cos@k xD + pm z Sin@k xD
k x

z Cos@k xD + pm y Sin@k xD

H* Gradient of function *L
Gr@f_D := 8 D@f, xD, D@f, yD, D@f, zD<

Gr@x^2 + y^2 + zD

82 x, 2 y, 1<

Gr@ Img@@3DD D + pm Img@@1DD Gr@ Img@@2DD D

8k pm y Cos@k xD - k z Sin@k xD + k pm H-y Cos@k xD + pm z Sin@k xDL, pm Sin@k xD, Cos@k xD<

Simplify@%D

9k I-1 + pm2M z Sin@k xD, pm Sin@k xD, Cos@k xD=

H* pm = +1 or -1 *L
% ê. 8pm^2 Ø 1<

80, pm Sin@k xD, Cos@k xD<


